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1. Answer the following questions : 1x10=10
word eppRd e ford
(@) What do you mean by ‘circular flow of
income’?
gorreieTe TR 2R A 6 2

(b) Mention two problems faced in National
Income Accounting.
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(c)

@

(e)

(9)

(h

(i)
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(2)

State Say’s law of market.

=3 5 RiEG Smy =40

What is the meaning of the term
‘aggregate demand’?

e v’ e 2

What do you mean by ‘paradox of thrift’?
SR AR’ WA 2

Define multiplier.
QT AR o |

Give two objective factors affecting
consumption function.

Toigel Foe oeR REE 391 K51 e TAme
T 790 |

Write the meaning of induced
investment.

Sepeifae R s for |

Define marginal propensity to consume.
e (oI 2RI F1F T2

( Continued )

(3)

(i) Define reverse operation of the multiplier.

BTF M afeT e foran |

2. Answer the following questions : 2x5=10
o SPPTRS Uee e

(a) State Keynes’ psychological law of
consumption.

Forg SeRwAe Segera [fEco! foran |

(b) Distinguish between average propensity
' to consume and marginal propensity to
consume.

e (o9 99l ¥ afes @9 AT TS
e ford |

(c) Mention two leakages of the multiplier.
B 70! e 7% 41 | |

(d) Give the difference between aggregate
demand function and aggregate supply

function.
AiEe oIfen Fod HF ANES IS Fe\g TS
12y feram |
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(e)

( 4)

Write briefly about the importance of
investment multiplier in an under-
developed economy.

ARG TS R 9w IRIROR @ofae

S e |

3. Answer any four of the following questions :

5x4=20

werq R e iRt oR Te o

(@)

(b)

(ch
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Define personal income, disposable
personal income and national income.
JiEore o, IR T TW qE wO
I K 7

How did Keynes’ criticize the classmal
theory of employment?

I R AEPre Fa st SEEw
HISRUIRRE ?

Mention some  important factors
determining the consumption pattern of
a society.

ﬁwwﬁsmﬂwﬁmﬁ@w&w
TemTereTR 6 6 2

( Continued )

(d)

(e)

(5)

With the help of diagrams, write the
differences between induced and
autonomous investments,

foum e, wefie w1 Foy Rt Tewe
*f12{y o4 |

Distinguish between marginal efficiency
of capital (MEC) and marginal efficiency
of investment (MEI).

Ee difes mre wiF Rivaes afte vrer
{12l 14l |

Write brief notes on the following :

SSRGS 5 Ol e
() Gross National Product (GNP)

0 AT T
(i) Net National Product (NNP)

gt T Seomw

4. Answer any four of the following questions :
10x4=40

wo R @ vifser oe Tes fory

(@)
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What are the methods usually adopted in
calculating national income? Give the
merits and drawbacks of each method.

TEW W S T oo & R afdd
Wﬁﬁmwwﬁmwmam
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(6) (7)

(b) Critically examine Keynes’ theory of () Explain the importance and significance

employment. 10 of the measurement of national income.

o [ OgoR  SINICEADAEE STl Discuss the various difficulties faced

S| while calculating national income in

underdeveloped countries. 6+4=10

(c) Discuss the subjective and objective W AR R T WE ool @R o

factors determining consumption ECE weffifoe BT IF 5w W ’[‘iﬁ?

function. Write briefly about the 2’ WWWW|

relationship between the marginal

propensity to consume and the

investment multiplier. 6+4=10

* Kk ok

Teislsl Fer fefaeRl REue® Tome oI 3o
M. Al S 1 AR Tegsn dRerel
s R e e RN REE v
forn |

(d) Explain the theory of accelerator. What
are its limitations? ' 6+4=10

W9 T OGOl WEAD I G2 TGN
TPt & 62

(e) Discuss the relationship between
national income and economic welfare.
Does an increase in national income
always lead to welfare? 10

B T WE GNARS IR A& AE
A 91 | T8 E Iy W FANTNEH
FEE ?
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